S AZ3045) i = X 15
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
B EEITL~5TH  [REEILSEA ORI R W= s e I
ERLEASR D Hitl 40 | L1[# 24[: 40/ 172 29
FARITL~5TH |l bEk — | BRAR (T T LY L T L
AT LR X
1 IR MG PN o 2 P b X —#t 25 40 | —
2 LFELIA o i 40 | L1|d 3l 53h 179 —
FRIERT1~12TH |[HE{LXE — | R (TR ST b T L T b 2
AR X I 40 | L.1(P 35 54 154 @ —
KEFT1~5TH B 8 A ot X R PR S S 1T HR KN ez | fERl AR EE fER)
FRLAA O e — | BRHR (7 EL HET BT b M b Y
AT IR 30 | L1 1.ofei 2. 450 4. Ofli 1.2
ARl ~7TH LRIk — | B ﬁ?ttzﬁittﬁiﬁﬂzﬁ[ﬁwﬁ
A LR X 40 | L2[F 3 a4 172 —
B\ BEHT =ty 30 | 1.1 2. L 1ol 3. L 1. 4
Ereesynyll} Ece 30 | L1 L8l 2.
PR T Ex: 30 | L1 2.3 2.
BJImT Eee: 30 | 1.1 1.7l 2.
JEBIET Ece 30 | L1 1.9 2.
JEBh A L ET I 30 | 1.1 11 1
B Je T IR 30 | L1 1.5 1.
T EET EoT 30 | L1 fWE 1.3 2.
FEHRT kel — | R (PR NERT L
A AR Kk
1 EEEERE ARG P 0 B —t oA 400 | —
2 ELS o 40 | L1|f 3 53 179 —
FRIET E=eh 30 | 1.1 1.8t 2. 3%l 3. 1t 2. 3
A R ESEY 30 | L1 L oh 2. 2l 3. ol 1. 4
| GRERT Eseio 30 | 1.1 [#f 2.2 1.9

’fp‘@. 4. o 1.5




1.

ERR30MESY v R XK 25
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
W LS ET Ecei 30% 1.1 i 15&?@@ 1.{:}71«@ 4.{;% Li ’
1 T I 40 | 1.1 (F 7.8 14 3 1
A BT o AR B P o A M R L Y I
RELIS O 40 | L1 40/ 50 1520 30
— AT gzttt 30 | 1.1 W 1. Oh 2. O 4. Ol 1. 8
FEHT Fr S R B PN 0D f AL Xk —J#t 2. ﬁ .00 —| —
LIS O Hi 30 | L1[h 3.1 4. 5% 6. 2% 1.6
FIFRET P S e B b o8 PR 0D JE Rt Xt —l 2.3 3.0 —| —
LIS 0 i 30 | L1|# 3.0 408 174 4.5
1 P AT R S 1A B AR PN D JR X0 i 7.5 8.2f —|  —
LFRLLA o Hie 40 | L1|# 9.0 14 16# 5.5
SRRy [iEREaR A — | B ﬁtbﬁﬁtbﬁiﬁm&ﬁﬁtbf@
AT AR X
1 IR MR o B2 T i Ik —d 13 24— —
2 EFELSt MR 40 | L1[F 34[: 329 36 8.1
RET1~3TH A b I — | B (T L YT b YT L T b
TR R X g 40 | 1.1 - - - -
AR (ke |1 — | B (7L HET HL e P e EL T
A LA KR
1 SRR o 2 Tl X —W o6 37— —
2 FECLISh o 40 | 11| sjj 44rh 38 7.0
TAIT1~10TH |fi{bxig — | BRMR (7 Lk T E T L M b e
A AR Kk
1 BEEERE AN o B F MR —fot o 37 —| —
2 ELS o 40 | 1L1|f 34[: 440 35 7.0
HiSEAT EseET 30 | 1.1 1ot L. 6l 3. Ot 1. 6
AT gt 30 | 1.1 2. 50 2. 70 2. 7iE 1.3
FRECHT Eset: 30 | 1.1 [# 2. Ofsti 2. 6’%@ 2. 5fifi 1.2




SAZ304 53 s ® K 3E
j;rﬁlzmﬁﬁ i Atk __ SHBEE __
SR ks w0 W e w4 [P PERERTIEEETA RS
WV FEET1~14TH |k —% E%%;Fﬁttfgfﬁtti”;‘ﬁttéﬂitt‘?—‘él ’ ’

A L Xk

1 PEEEIR AL P 0 B F Hh DKH #io25E 400 | —

2 FELS o 40 | L1|f 3gfft 53 179 —

FH/ OET gzttt 30 | 1.1 1. 5fl 2. 4% 4.6FI 1. 4

FFRHAT [iskeR (s — | B ﬁth%ﬁtb@[ﬁhﬁ’éﬁtt@
AT LA DI

1 BN o B2 A MK Woo2o@E 40 | —

2 LR oM 40 | L1435 57 101fF 22

LET1~8 T H e A% — | B (T LT LY L T b
TR AR X g

1 BRI A PN oD Rl 3 #2328 | —

2 bR O IR 40 | 1.1|F 30fF 46 154  —

HEHT [iREaR A% 50 | 1.1 [T BT BT E T BT

TR bR X 40 L1988 7F 154 354 10

& T Ex: 30 | L1 |Ah 2.6 2. 8 4. 6 2. 3

T B TR LI PN oD 2 T X —|fdi 13Ez 15 - -

LRCLASL 0D Hittsk 40 | 1.1|F 17F 199 35H 10

AHAHET I 30 | 1.1 [ 1.0 2. 50 4. 50 1.6

7| EEE1~9THE  |[HEHLRE

1 %Bﬂ#%i%&@%ﬁ%%ﬁﬁﬁi&ﬁ 0L I 31 1 1 [

2 LFEEIA o M — | BEHR (T ELHERT P e P e P T

A AR X

1 REIRE e o B2 T Ik —l 24t 35— —

2 LEELUSh O iR 40 | L1|F 32 41F 93 —

5 4 WEHET TRk I 50 | 1.1 |7 bbHET b SR b M L 2
T LA X 40 | L1 |% 8.6 1480 18Hf 5.4

A ET e 30 | 1.1 [ 1.0 1. O 3. 6[‘: 2.4




S AZ3045) i = X 1H
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
2| AiRET Eein 30 | 1.1 1.8 2. Sl 3. 9 1.6
TS P T o2 4 M I PR 0D 2 P 3 DX — |t 30E 260 —| -
LIS o Hitd; 40 | L1 39 40tk 148fp 29
AR BRET ot AR BT PN o R O L Y T
EERLIA o Hitkek 40 | L1|% 39 4o 148 29
KT g 30 | L1[F0 1. 680 2. 80 3. Tﬂ 2.1
HERT1~1 0T B |HEHbxE — | B Fﬁth@ﬁttfé[ﬁbtﬁﬁttfé
AR X I 40 | L.1[P 31fF 43 172 3]
BT g 30 | L1 L 7R 2. Sl 4. Ol 1.9
FHEPRT Eet’ 30 | L1l 1.5L: L 9[;@ L9t 1.9
_bJ5HT [EECIR A
1 BRIEAEZEM M 50 | 1.1 |7 LYET B AE T b YT b T
2 ERLUt O MR — | B (T LT b Y e T P
T LA K ik
1 BREERE M 0 B O —f 24 41 - -
2 bRELSt o 40 | Lo[F 35 54 172 35
A RERT1~5TH  [REREHUEN ORI —l 228 30— —
EFERIA D HirE 40 | L1|d 32 49 | —
K RKBRET I 30 | 101 [ 2.3 2. @T@ 4, Tm 1.2
K FEHT [iRCx s 1 — | B ﬁ%tti’jf:tti’éfﬁttf’éfﬁtt%%
AT LR Kk
1 BEIRBUBIER AN o 22 A DX —f 31 260 —| —
2 ERCEA s 40 | L1|% 40 42 152 30
KEFETL~5TH MRk — | BRAR (T I LR I L T L
T LR Xk
1 RO o B A il X —Hl 23 300 —| —
2 LFELh o g 40 | L1|d 32 49 159 —
| KHAT Eset: 30 | 1.1 W 1. 1F@ 2. 8’%@ 4. 6l 1.7




S AZ3045) i = X 5
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
B K HLET 2 S 4 MBI P 0D £ D o DX ’ jﬁm zﬂi‘l;’fiﬁ zz : -’ ’ i
ERLEASR D Hitl 40 | L.1|% 23 38 122 20
RAEHET fr SR LIS PN oD f P L Bk —t 2.3l 3.5 | —
RELIS O 30 | L1|# 3.1 53 4. 06t 1.6
KT o SR LI PR oD f P B XU ol 5. 40 5.8 —| —
EELIA 0 i 30 | L1 6.8 7500 126 3.1
K7 jERad T Eet: 30 | 1.0 W 2.7 4. 3l 4. Tl 2. 0
KA ST Eoes 30 | 1.1l 1.5E 2. 5[@ 5. Ol 1. 6
KIRHT ST 30 | 1.1 | 1. Gh 2. 20 4. 8 1.2
REHT I 30 | L1 B0 1.3l 2. Ol 2. O 1. 8
KIRHET IR 30 | L1 3. L 3. Lf 4. 5 1. 4
KEHT LRIk 50 1. 1 |77 B #ET LY e e b HE
A LA Ik
1 IR MR o B2 T i Ik —d 24 34— —
2 LEELUSh O iR 40 | L.1[|H 39 S50 152  —
KiEKET A b I — | B (T L YT b YT L T b
T LR (K I
1 REEREMIR P 0D B A R — o6 40— —
2 LFRLUt o IR 40 | L1 s 57 17gfh 45
R HT gciy 30 | 1.1 2. 1 2. 68 3. T 1.7
AT =i 30 | 11FE 2.0 2. 60 4. 1HE 1.4
AEHT Estcn 30 | 1.1 [ 2. 65 3. Ofd 3. 8fdi 1.3
KREATHT Ete 30 | 1.1 2. 1 3. 2 3. 9[2 2.6
TR EsiH 30 | L1 5.8 7.9 1266 5.2
RIRAT E=t:n 30 | 1.1 [ 1. 2. 40 5. Ol 1.9
REFAT E=eh 30 | L1 1.9l 2. 4% 3. 2[: 1.4
RABHT g 30 | L1 WG 1L TRRE 2. 20 2. ol 2. 4
REF AT Eceiid 30 | 1.1 [# 1.7 2.

2’%‘@. 1.7l 1.4




S AZ3045) i = X 65
HXITF 4 . AT S HABEE
R N N I e ] | Lok | 4B (B
B AT 2 S 4 MBI P 0D £ D o DX ’ jﬁm 12%@ ZE : -’ ’ i
RELLASR O it 40 | L.1|% 2 41 3gH 10
KWET1~17TH |difuEk
1 B ot X B B A AT el | R fER fER] fER
HEA
2 kRELAA DM — | BEMR (7T Lk M L YET b M b
e LR (K Ja
1 RSEIRELMIR P 0D 5 i B — oupE 28— —
2 LRt OHER 40 | L1 31 49 15gfh 23
KRBT Ecis 30 | 1.1 [fd 2.0/ 3. Ol 5. 25 1. 4
KRET1~8TH Eeii 40 | L1|% 21F 314F 354 8.1
&4 BRRT B 30 | 1.1 2.5 3. I 4.6 1.5
HRFFET Ecern 30 | 1.1 [ 2. ofd 2, arfg 2. 8ifli 1.8
EIRET [ikcak (7o BEAR (T L T LA PRI b YT L 7
AT LR X
1 R A o 2 A Hi X I —Hl 23 28 0 | —
2 LFELh o g 40 | L1 31 43 152 22
FRYRET Fo S LA PN 0D Fo P X —ti 3.7 6.7 | —
_ERCEASN 0> itk 30 | L.1|% 7.0 9.0 16l 5.7
A LET g 30 | L1[# 1.6 fll 1.1
/N FARET Eaair 30 | 1.1[# 2.2 E@ 1.1
INFEEFET ey 30 | L1 2.0 il 2.7
ey [iEREaR A 50 | 1.1 |[ffEkHE 3 [ﬁbt‘i%
AT LR X 40 | L1[#F 19 5.3
/NEERT =t 30 | L1 21 il 2. 4
ZRET 2 R BTN oD 2 F L X3 —fl 13 -
ERRLIA O Hittek 40 | L1 2yff 37 7Hb 19
ZErE1~4TH |[&k 50 | 1.1 [T b B AE T L T b v
{BRERHET I 30 | 1.1 [l 2. 20l 2. 8l 4. THE 1. 4




S AZ3045) i = X 7H
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| /1T i 30 | 1.1 (W 2.6 3. I 4. TRE 1.4
I RET e 30 | 1.1 [ 2. 5E 2. 8l 3. 7 1. 3
/N ALET gt 30 | 1.1 [ 2. 7jE 2. 8 5. 2l 1.5
N EACET £ 30 | 1.1 2. 500 4. 3§ 5. 1l 1. 4
7 ERT o SR LI PR oD f P B XU ol 1. 860 3.8 —|  —
EELIA 0 i 30 | 1| 2.3 4. 30 3. 580 1.5
AN=La B 30 | 1.1|# 7.9 8.3 14/ 5.5
7y ERHT IR 30 | 1.1 1. 5p 2. 4[@ 4. gifili 2. 5
HEeiT o R BRLHIER PN oD o P L 3 —ft o5 40 | —
EELIA O Hi 40 | L1|4 3gfE 57 102k 22
TEARET g 30 | L1l 2. Offi 2. 9l 4. 4l 2.1
plb: oA st 30 | 1.1 [l 1. of 2. ol 3. 7l 1.1
A7 IRET IR 30 | L1 2.6l 4. 550 4. 9ffi 2. 1
S TR B BT =ty 30 | 1.1 2.4 4. 15 3. 7E@ 1.7
FIE) IR FE IR BLHIIR N D J= M X3 —f 30iE 26 - -
ERELAS 0 Hit 40 | L1 39 38 152 29
FEEFHT Es: 40 | L1[P 7.0 8. BF@ 12rfm 4.3
SRET (ke |1 — | B (7L HET HL e P e EL T
T b i 40 | L1|f 35F 54 147 25
JINARHT = SR B P oD = T M X A —fd 13 17 — —
LIS o itk 40 | 1L.1|% 20 31 13%E 3.1
HEAHT Ecei 30 | 1.1 [Rf 1.9 2. O 3. 3[: 2.7
- FEHT b gk
1 BB oo T 35T s 40 | L1 |7 LT b YT YT b
2 kLo i — | BRAR (R b Y b M b v
T (LR X
1 BRI PN o B M K el 24 34 | —
2 kLSO 40 | L1 40/ 50 152 29




S AZ3045) i = X 8
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
By bJIaET 2 S 4 MBI P 0D £ D o DX ’ jﬁm 2.?)!%@ 2.2 : -’ ’ i
EFELIA D Mtk 30 | L1|H 2.3 3. 08 6.
_Etnay Ees 30 | L1FE 2. 160 2. 3%0 3. off
_EELET i 30 | LT[R 1.1 2. o 4. 8
_k4BmT [kl — | AR [T LE YT LT
AT AR K ek
1 SRR o R A —#t 30fi 260 | —
2 RELEA o 40 | L1|% 39 38 152 29
L/ mEr =i 30 | 1.1 [l 1. 7fe 2. 2% 4. 500 1.6
p=BIRET i 30 | L1 LT 2. 4[;@ 4. 2l 1. 4
b EET 2 SR FL IR N oD B2 P R 3k —l T 7.7 | —
LA O K 30 | L1|F 87 1260 14l 5.1
LIEAHET ik S B A P D f2 B XS —ti 2.0 3.3 —| -
_ERLEASR D i 30 | L1 2.5F 461 17% 4.9
rrHT Ece 30 | 1.1 2. 20 2. 6 3. ol 1. 3
1 RET Ecend 30 1.1 (i 2. 6fi 3. 150 4. 76 1. 3
_EREET E=et 30 | 1.1 1. el 2. 55 4. 8l 2. 5
BEH e IR BT P oD 2 L K35 —l osE 41—  —
ERRLIS O HhR 40 | 1.1 (% 35 54 75 16
Jngse) | [|T = SR B P oD = T M X A —idi 6. 4 7.4 — —
EFRLIS O 30 | L1 7.5 8 560 12 4.7
X HT Estcn 30 | L1 2.7 2. SF@ 4. .Tm 1.8
FHE1~7TH Wb — | B Fﬁth@Etb%ﬁﬁtb%ﬁitb“ﬁ%
AT (LA Xk
1 ERRER B PN o 2 R il s —ft 2% 28 | —
2 LERLS o 40 | L1|% 30 46 154 —
JITFHET E=EY 30 | L 1[FE 2.7}l 2. ot 2. 8%l 1.8
JET1~57TH P 3 i B LI N oD R Pt DR —fff 24 35 — —




S AZ3045) i = X I
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
oy JIHET 1 ~5TH | EiEs ot 40 | 11 (d 3 4 95 —
ESi) Ezecn 30 | 1.1 [ 1.6 2. 2% 1.8 1.0
JERET i 40 | LLU|F 1 17 23 505
JII BT i 30 | 11[FE 1.9l 2. 2 3. 5% 1.8
PRREAT Epe 30 | L1 [WE 1.3 2. 3 2. 6l 2.2
EIAET i S TR B P D e b DX Wio7.800 7.9 — —
LIS O Hi 40 | LU oo.afb 14 17 5.9
&| BT IR 30 | 1.1 W 2.4 2. 55l 3. 9l 1. 6
AHEHT SR B HB IR PN oD i F L K fll 1. 90 3.4 — —
QECEINGT: 30 | 11| 2.3 5 Lt 5. 9%t 1.5
Jb—enT 2 S L b ok PN 0 PR Y L W2 4t 2.8 | —
ERLEAS O i 30 | L1|# 3.
JEREFHT IR 30 | L1 Wl 2.
b/~ FHT =ty 30 | 1.1 1.
JefEry Ece 30 | 1.1 3.
HET1~7TH A b I — | By |ICHE
T LT X 40 | L1[F 31
1 ~7TH (ke |1 — | B (7L HET HL e P e EL T
T LR I
1 BREEIREME P 0D B T i —d 13 24— —
2 kRERLASh o Mt 40 | L1 1 324 35 10
FILET Ecei 30 | 1.1 [AE 1.3 2.3F@ 44Tr»£ 1.6
<| FLASERT T b Rk 50 | .1 Fﬁtt?f%r;thi%ﬁﬁttﬁﬁitt*ﬁ%
T LR Ik 40 | 11| 8.7 140 17 5.
A T &RET E=eEn 30 | 1.1 [Rf 2. 10 L 7R 3. O 1.9
|| BT o S R B b 358 A oD J FH Xk —h 7.5 7.9 — —
EEELIA o il 30 | L1 9. 970 16l 6.3
[ 4+ i Eseun 30 | 1.1 [ 1.4r’@ 2. 4?@ 4. 4 1. 3




S AZ3045) i = X 105
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| ARARHET Ecei 30 | 1.1 [WE 2.5 2.6 3. 15 1.8
YT Ezecn 30 | 1.2 1.3E 2. 1 3.2/ 1.5
AT gt 30 | 1.1 2. 500 2. 20 2. 5 1.1
Z= HANET s 30 | 1.1 [l 1.5l 2. 480 3. Sl 1.4
ST Epe 30 | L1 W 2.9 2. 8 2. 2l 1.2
IR I Esin 30 | L. 1[0 1500 2. 3Em 4. 8l 1.8
Z| ZNET By 30 | LLJRE 11t 2. 3 4. 8% 1 5
AT P2 2 1 LM AR P 00 2 R At X 7ot e | —
LIS 0 i 30 | L1 8.5 1460 13%0 4.0
B RET 1 ~5TH |[BM A b X i e i 1 7 Hi XN a3 | fER fEE] fEE fEE)
RFRLAS o HitE — | BRHR (v HE Y e M b T
AT [iEREaR A — | R [ T Bl b T L
A LA Ik
1 IR MR o B2 T i Ik —d 24 40— —
2 LEELUSh O iR 40 | L.1[|H 35 534 1729 33
AHIET LT g 30 | 1.1 [l 3. Ol 2. Sl 2. 4t 1.2
U B TR LI PN oD 2 T X —|fdi 13Ez 14 - -
LFCLLA oo it 40 1.1 th
ANL I 30 | 1.1 . Ol 4.
b FHHET gciy 30 | 1.1 Ez .43,
ZNFERET gt 30 | 1.1
ELLHT ESein 40 | L1 7.8F 11 35 8.9
FiT1~8TH B AR KR P S T H XA 1 I 51 51 1
_EERELS o it — | BRAR (T I LR I L T L
/PNmET E=t:n 30 | 1.1 [ 2. O 1.7 2. ol 1.5
o TaT PR SR BT P o0 2 A M X 0k o T S
EEELIA o il 40 | L1 40/ 50 152k 30
INEREFRT Eseun 30 | L1 1T

2. 7’%‘@. 3. G 2. 2




S AZ3045) i = X 11E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
Z| BosHET 2 S 4 MBI P 0D £ D o DX ’ jﬁm 2{;&‘@ 32 : -’ ’ iy
ERLEASR D Hitl 40 | 1L.1|% 4o s0M 152 30
/NZET fr SR LIS PN oD f P L Bk A A S I
RELIS O 30 | L1|P oo 13%0 144 5.1
&| =T o SR LI PR oD f P B XU —#t sop 280 0 | —
EELIA 0 i 40 | L1 38 40h 152 29
i LHT i S i L L ) o f D o —# 4500 6.7 — —
_ERCEASN 0> itk 30 | 11| 6.5t 828 12 3.1
fibEF AT Eee? 30 | L1 W 2. 1l 2. 3l 3. Ll 1. §
HEHT ESsEn 30 | 1.2 (B 2.0l 2. Ol 2. 9 1. 4
T b X 5 | L.1 ﬁ?tti’émttfémtti%[fitt’@
A AR K
1 REERE MG o 2 DO —t 14 260 0 —| —
2 _ERLEA iR 40 | L1 |d 25 42 15l 3.9
FRE1~4TH |2 40 | 1.1 e s
HESICHET Ex: 30 | 1.1 |Ah 2.6 3.0 5.2 1.5
BARHET B TR LI PN oD 2 T X —|fdi 14Ez 15 - -
LFELLS D i
1 GHVERT, NERL 3Ry g, Mess, |40 | L1 20 2080 126 3.2
M, mbE, B, W7, EE
B
2 _LEBsA o ik 40 | 1.1|% 200 200 214 5.4
IR T Estcn 30 | 1.1 [ 2. 65 3. Ofdl 4. 8fdi 1.7
R EEHT et 30 | L1 L 7jeE 2. 3[;@ 4. ol 2.1
= o SR B P 0D o P L UK o 1oRE 2.9 | —
RERLIA O I 30 | L1 2.4 4.4 3. 9% 1.6
=4rHET E=eh 30 | 1.1 2.0 2. 2%l 5. Ot 2. 3
U| &/ RET et 30 | L1 L. LR 1 ol 5. Ol 2. 0)
WHRET1~6TH Fo S R LML ) 0 f D 3 XU —f# 21HE 280 — —




S AZ3045) i = X 128
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
U WHRET1~6TH RFLLASR > HiE 40% 1.1FétlJ 2§th sgm 17{343 25 ’ |
BT b Xk — | BEAR (T LE T b L T L
AT {L A X
1 EREiR B s Py o 2 R il KO —At 13 28 | —
2 FEREAAh o Mgk 40 | L1|% 1gdr 38 3 7.7
U ST ML
1 S EPUGRERE ] Tt K s s 2| R =B fEB fEE
THUIX A
2 ERUADHIR — | B [T LG HET b e e e
T LA K ik
1 FREEIREMIG N o B A K —E 24 40— -
2 FEELIS R 40 | L1 35 53 17gfh 33
PR R T Ecern 30 | 1.1 [ 2.0 1. 8% 2. 8l 2. 4
AT £z 40 | 1L1|d 8.7 13 3P 13
BRET1~3TH il I — | B&#R [ bl BT b T b T b 0
AT A% Xk 40 | L1|P 33f 41t 9 19
el T gt 30 | 1.1 W0 1 Oh 1. 90 3. gl 2. 2
WA 1~7TH  |[HEHLXER — | B Fﬁth@Ettfé[ﬁbtﬁﬁtti’é
A b AR X g
1 PRI s P o B K0 o A I
2 LS R 40 | L1|F 31 45% 154  —
THHIT1~8TH |[fi#HkEEk — | B (TR YT L L Y T
AT LA R 40 | 1.1 (% 35 54 154 —
T EHET 2 S AT PN D 2 T e XS5 —Jfti 2.
_ERLLASS oD i 30 | L1|% 2.4
AT E2i 30 | L1 1.9
THEAHE Es: 30 | 1.1 f# 1.4
TFituy =4 30 | 1.1 1.4
FPE] Ece 30 | 1.1 1.6




S AZ3045) i = X 138
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L| THHET Ecsiid 30 | 1.1 [ 1. O 2. O 4. O 1.9
FAZAHT BNy 30 | L1 [AE 2. 6l 2. 9 5. 2 1. 4
THETL~7TH  |[fiHbEk — | BRAR (T T LY L T L
LS 40 | 1L1|f 35 54 154 —
TEAT o SR LI PR oD f P B XU ol T4l T | —
EELIA 0 i 30 | L1 8. 7h 140 1440 5. 4
T RET Ei:n 30 | L1 Loeph 2. L 2. 7 1.2
Ha/KHET [ERCi — | B ma%ﬁm&m&mu&
T LA X ek
1 R s Py o B A I o A Y I
2 hEEA o i 40 | L1|% 38 57 172 42
H AT S B b sk PN D R P L R 1 i 1886 3.0f | —
ERRLIA O it 30 | L1172 j: .
=h=) =ty 30 | L1 1.6l 2. 45 4.2
AT =ty 40 | L1 1
Bk RLET g 30 | L1[F 8.9
HTREHT E=et 30 | L1 L1 2.
AR L~7THE LR — | B ‘rﬁtl:“ﬂj; E
A LR PR 40 | L1[|f 30 46
ZAH] IR 30 | L1J#E 19w 1.9
AT g 30 | 1.1 R 1.2 2.2
HOET Ecei 40 | 1L.1|% 10F
AT ety 30 | L1 1.9 2. or@: 4. O 1. 3
{EEAT [ikcl=es — | B Fﬁtlﬂ%[:tti%ﬁ?klﬂ‘%ﬁ?ttfé
T LR Xk
1 RO o B A il X —Hl 27l 34— —
2 LFELh o g 40 | L1 41 50t 152 30
=) Eseio 30 | 1.1 W 2. 5f@ 2. 7?@ 3. 6l 1. 4




S AZ3045) i = X 14E
HXITF 4 . AT S HABEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
9 BT Ecei 30 | 1.1 [ 120 2. 25 5. Brm 1.3
B LT 1 ~4TH  |[iE#HbRK — | EE#R ﬁﬁtt%%r;ttﬁéﬁﬁtti’éﬁitbi’é
AT {L A X
1 EREER AN N o B Hh X — 21t 28 - -
2 FEREAAh o Mgk 40 | L1|% 3 45 154 —
FiArHT Fr S R B PN 0D f AL Xk —fh 5ol 6.8 | —
LIS O Hi 30 | L1|h 7.0 8.3t 124 5.4
THET1~7TH ML a0 | Rl e EE R
B S0 o T B 2 A AT R X Y)
T LA K ik
1 BRI o B2 A K —ti o4 36l —|  —
2 RERLSOHI 40 | 11| asr: 420 - =
FHT b Ik B0 | 1.1 [T bk HHT b 3T b M L v
AT (LA Xk
1 EREER AN N o B Hh X — 21t 28 - -
2 EREELS O 40 | L1|% 3yt 43 154 23
TE1~10TH |difbXg 50 L. 1 (77 EL YT b YT b T b
AT AR DI
1 REEIRME N o B A Hi X I —Wt 2B 28 | —
2 LR oM 40 | L1|$ 3iF 43% 154 23
T-HEr IR 30 | 1.1l 1. 4R 2. 3l 3. o 1.9
JIRET Ecein 30 | 1.1f# 2. 5E 3. OE@ 5. 2Em 2.1
| R mHET s 30 | 1.1 |l 2. Offi 2. Ol 4. 1t 1.2
7| MET1~4TH % SR IR PN oD 2 P I —Hl ZIE: 28 - -
_ERLLASS oD i 40 | L.1|% 31ff 434 154 23
FELHET 2 R BTN oD 2 F L X3 —l 300 26 0 —|  —
bFELAS O s 40 | L1[|H d4ofp 420 1520 30
KREET1~3TH [k 40 | 1.1 [T e T PR e Y PR
T A X dk




S AZ3045) i = X 165
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
fz| KAFT 1~ 3T H 1 REEHREHIE N 0 B A i DO ’ —Fé;’fm aﬂiﬂﬁfﬁﬁ zi B i |
2 kRIS Hk 40 | 1L.1|% 4o 42 152 30
AT o AR B P o A M R —fel 21 28 -
RELIS O 40 | L1 23 38 1220 19
M HT T Epe 30 | L1 [WE L8 2. I 2. ol 2. 4
By PR SR B AR PN oD S R — el 25E 42 -
LIS O Hi 40 | L1|f ssff 59 78 —
& e T b Xk 40 L. 1 (7 bb ST L BT L T b
T LA X ek
1 REER s o B s —fl 24t 34 -
2 hEEA o i 40 | L1|% 40f 50 1524 29
BTy o SR BT PN oD 2 P L RS #2500 34 -
EFRLIS o M 40 | L1|F 40 50 152 30
15 A ASHT R S TR IR PN oD 2 P B X B —l 25fl 34— —
EFRLIA O it 40 | L1|F 40 504 152 30
7 ey BT = R B N O 2 F DX —ff 21 28 - -
RFERLLA o> Hitkek 40 | L1 23t 38 le4h 24
R EF AT g 30 | 101 fWE L6l L 8HE 2. 2l 2.
EREET 1 ~4 « 77 B|& HFE6 i D EE e a1 T H 0 L 1 1 21 A sl
LFREAS oD Hirtsk — | B |7 Eh HET H HET B ME b AR
EEEr 1~ 7 TH ot SR BB P D 2 P M D —E 2288 30— -
ELIA O HE 40 | 1.0|Ff 24r: 40/ 172 33
HEIT1~7TH [li#HbRIR — | BEAR (TTLL T L L T L
T LR Ik 40 | 1.1 [ 27E 34 31
EET e R BT PN oD o P i DU i 21[: 28 —
_EEELIAN 0> itk 40 | L 1|9 3yf 42 162 22
& LT g 30 | L1|F 8.0 130 140 5.2
AT % SR BT PN oD S A I i 6. GF@ 6.8 —




S AZ3045) i = X 165
HXITF 4 . AT S HABEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
7| HERRET RFLLASR > HiE 30 | L1|F 7.0F 8 Tﬂ 12rm 3. 4
T b Xk — | BEAR (T LE T b L T L
AT {L A X
1 EREER AN N o B Hh X — 27 34 - -
2 FEREAAh o Mgk 40 | L1|% 4yfr 50 152 29
TR [iskeR (s — | BEHR [T R e e e b 2
AT LA DI
1 BN o B2 A MK —Hl 27 34 | —
2 LRELU o i 40 | L 1| 4l 504 152 29
MART L ~8TH  |[F#HLEIS — | B (T LT LY L T b
TR AR X g
1 BRI A PN oD Rl 3 el 2upi 28 | —
2 LELU OISR 40 | L1|F 31 43F 154F 23
[T =ty 30 | 1.1l 1.7 2. 40 3. 6l 1. 5
MY ES 30 | L1 [0 2.0l 1. 70 2. Bl 2.1
SOEHET I 30 | L1 1. 3h L8l 2. 3l 2. 4
BT 1~5TH  |fifkXs — | AR (T LT b M S T b
AT LR K 40 | 1.1 - & 4u -
MR ET I 30 | 1.1 [Wh 1.6 1.8 2. 5 2. 5
FERHET gciy 30 | L1 [WE 2. 080 2. 5 4. 5[2 1.8
FEFAT £ 30 | L1 1.4 2. THE 3. 908 2.2
M ST R R BT P 0D B I —ffti 3. Ot 3.0
ERCEASS D 30 | L1|% 409 3.8% 38t 11
AT AL Kk 50 1. 1 |77 bl #ET BT b v b Y
T LR Xk
1 RO o B A il X —t 23 311 - —
2 LFELh o g 40 | 11| 24E 410 38t 9.5
B THERT gsicn 30 | 1.1 2. 3F@ 3. oﬁm 3.9l 1.9




S AZ3045) i = X 178
HXITF 4 . AT S HABEE
[ aved a0 w % o P
% e = * ® = # ®
Bl JT R ET i 30 | 1.1 1.5 2.3 4. 60 1.8
PaE2Li) Ezecn 40 | L.1|% 8.6 13Eﬁ 16[: 5.0
T T fr SR LIS PN oD f P L Bk 7oA T | —
RELIS O 30 | L1 87 14t 140 3.7
REHSF1~10TH |2l 40 | L1([P 35 54 154  —
| FIT1~6TH ke[ — | R (TR L b T LY
T LR Ik 40 | L1 35 54 154 —
BT 1 ~8 T H ML
1 %Eﬂiﬁiﬂﬁ@%ﬁ?%bﬁﬁﬂﬂﬁ ez | fERl AR EE fER)
2 EECRUAA o M — | &R [T Lb T LT L YT L Y
T LR ik
1 iR o B2 A X I —fd 21 28 0 — —
2 LELISt oM 40 | L 1|F 31 45% 154  —
1RET [k (A% 40 | L1 | b b Y b e b
AL X
1 BEEHRE R PN o B M K el 24 34 | —
2 kLSO 40 | L1 40/ 50 152 29
SRAHT [ERE A= 50 | 1.1 [T bk b YT b M b
T LA X ek
1 ESER B ISP o T s el 24t 34 | —
2 _ERLEMA ot 40 | L1|% 39 50 1624 29
HT Ece 30 | 1.1 (W 1ol 3. Of
P IRHET Eoeiy 30 | L1l 1.9l 2. 10 3.9
HESLHT =t 30 | L1 (Al 1. 5l 3. Of
PRiRFHT Ece 30 | L1JHE 1.9%E 2.0
T| HEHT R AR B PN 0 f D B I —iti 2286 30
_ERCLAS Dt 40 | L1 [P 24 40
<S¢ THET i FEHR USSR PN oD J2 P i (X33 —Jid 7. 5l 8. 2




S AZ3045) i = X 185
HXITF 4 . AT S HABEE
v 0w e 8 m e % 5 [Pt
% e = * ® = # ®
T| ¢ THET RFLLASR > HiE 30 | L1|F o.0f 148 148 4.6
SFYEHT Ecei 30 | 1.1 [ 2. 45 2, 5 4.:[: 1.5
FHMEIT1~6TH [T bEk
1 %E#?ﬁifﬂ&@%ﬁ%%ﬁﬁﬁﬂﬁlz el | R fER fER] fER
2 kRELAA DM — | BEMR (7T Lk M L YET b M b
T b X
1 RSEIRELMIR P 0D 5 i B — o4 3¢ 00— —
2 EERLAOHIR 40 | 1L.1[F 32 42 98—
ER=L) = SR MR PN oD f T L X3 —pel 7. 7E 11 — —
LIS o 40 | 11| 9.9 140 170 5.9
KEHT1~6TH  |[B3EREFHUEN ORI —pn 21 28 | —
EFELIA D itk 40 | L1 23f 38 172 24
| EAEIT1~5TEHE  |&& 40 | 1L1|d 7.8 21 35 8.3
FRET ESeEn 30 | 1.0 [# 2 e 3. orﬁ 5. orﬁ 1.9
FHET1~5TH ML — | H#R ﬁﬁth%ﬁtt@ﬂ?tti’éfﬁtti‘%
AT LA X I 40 | L L|f 31 43 154 27
[EREL) IR 30 | 1.1 [#f 2.6 3. 2% 3. 7 2. 0
BAXET1~9TH [ieEczRIAES = — | B8 ﬁtt@ﬁtbi@?ﬁhﬁ%ﬁtt@
T LA X ek
1 ESER B ISP o T s el 24t 360 | —
2 hEE o i 40 | L1|% 32 424 9o 19
il [iEREaR A — | R [ T Bl b T L
A AR X
1 REIRE e o B2 T Ik —l 23 28 00— —
2 LEELUSh O iR 40 | L1[|H 31 464 1524 22
FEAET1~6 TH  |[RIERBHUEN O BRI —t 23 28— —
RFRLLA o> Hitkek 40 | L1|% 3y 46 152 22
] = 30 | 1.1 [fd 1. ol 1. T 2. 4 2. 4




S AZ3045) i = X 198
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
&| WESrET i 30 | 1.1 [ 1.8l 2. 2 2. 5T 2. 5
Wi ./ YT I 30 | 1.1 [ 1. E 1. 9t 5. Ol 2.1
HaAET R 30 | L1 L TR 2. 450 4. 5 2.1
FHRET EzeEn 30 | 1.1 [ 1.9E 2. 450 3. 9l 1.9
H AT Epe 30 | L. 1M 1.6 2. 400 4. 6l 1.6
= W Esin 30 | LL|h 8.0 LUl 1446 5.1
EKHET Eet: 30 | L1 WG 2.0l 2.4t 2. 6l 1.9
ELHT b Xk 50 1.1 ﬁtt@ﬁtb@*ﬁkh@ﬁtt@
AT LA X 40 | L1 |# 8.6 144 35H 10
E T R S 1A B AR PN D JR X0 i 3.9 5.8 —| —
LFRLLA o Hie 30 | L1|H 4.9 7.9 120 3.6
re| HET [iEREaR A — | B ﬁﬁthﬁﬁthﬁiﬁw‘f&ﬁﬁth?@
A LA Ik
1 IR MR o B2 T i Ik —d 2T 34— —
2 LEELUSh O iR 40 | L1[|H A4 505 15294 29
HE R RT T b 50 1. 1 (7T b 28T b SET  2ET TE
T LT X 40 | L1 7.3 15ph 18 6.1
&HT Ece 40 | 1.2 (% 8.6 140 14[: 5.3
HEET it SR BT PN 0D J L 35 —t 7500 7.9 - —
ERCLLSR oD Hirksg 30 | L1|f 8.9 13m0 14 4.8
FIRAT ot SR BB P D 2 P M D —#L 6.3 6.5 — —
EFCLASN 0> HR 30 | L1 6.8 828 128 3.1
ST et 40 | L1|F 11ff 17 22 5.8
1 FH AT F AR BT P o A M ROk el 24t 34 | —
RERLIA O I 40 | L1 40/ 50 152 29
frsZET E=eh 30 | L1l 1.3l 2. 3%l 4. gl 1.2
e ESEY 30 | L1 BE LR 2. 7l 2. 4 1.1
FARHT AT b XIS — | B (i LR Y e e b




S AZ3045) i = X 208
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% = 2 e & # ®
7| ARET AT LR
1 BEEREUIEL P o B A X — 27 34— —
2 LELISl o 40 | L1 41 s0h 152 29
K P BT 3t 30 | 11RO 1O 4. 40 1.8
AT Epe 30 | L2 1.7E L 8%l 2. 2[: 2.2
HRERT Eee 30 | 1.1 [l 2. 50 2. 5 2. ol 1. 4
& T Eet: 40 | 1.1 | 8. 7R 8.6t 12l 4. 4
R T FER S 4R L PR o FER R L —h T4 T | —
LIS 0 i 30 | L1 8.7 1460 1740 6.2
(| fF BT ES:n 30 | L1 [RE 2.4 2. 6[;@ 5.2 1.8
BT 2 HT SR B IR PN oD B T K — i 1.9E 3.5 — —
EFELIA 0 30 | L1|F 2.4 4.8l 3.3%0 1.7
Vi T [EEEIE (A% 5 | 1.1 Fﬁbl:zﬁrrﬁtti’iﬁtti’éf;%ti’é
[iReaR ok dme
1 REIREHRIE N 0 B —el 24 34—  —
2 bRELSt o 40 | L.1|F 39 50 152 29
VU R HT E=et 30 | 1.1 1.3l 2. 3% 4. 8 1.7
FEHFE1~9TH  |REREMEE AN ORI —it 21E 28— -
LFELIS O HiH 40 | 1.1 3 43 | —
VH FHET R SR B P oD 2 P M X3 —l 27 34— —
ERRAA O H g 40 | L1 4l sorh 152 29
VA PHEEHT Ecei 30 | 1.1 [ 2.5 2. SF@ 2. Tm 1.7
Ly b gk 40 I.1 Fﬁtti’ﬁr;ttf%ﬁitti’éﬁittf%
AT (LA Xk
1 ERRER B PN o 2 R il s —ht 4o 5.1 | —
2 LERLS o 40 | L1|% 6.0 7.4 45 12
PAAKFHT g 30 | 1.1 2. TR0 2. sl 4. 4E 1.9
P AT AT b XIS 40 | L1 | o b Y e M b




S AZ3045) i = X 21 E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
\Z| P IR HERT T LR P 40 | 11| 8 7T 13 168 5.1
Pl T Ecei 30 | 1.1 [ 2. T 2. 9Eﬁ 2. 7[2 1.7
FIET1~5TH  |F3REHEAN O H K — 22 311 | —
RELIS O 40 | L1|fos33f 4l o1Ti| —
W) 72 HRET Ege 30 | L1 [WE 1o 2. 60 3. 3l 2. 4
o B AN K 30 | L1HE 1. 7HeE 2. 9Em 1.8[: 1.3
9 T HT i S i L L ) o f D o —f#t 7 540 7.9 — —
_ERCEASN 0> itk 30 | L1|h 8.9 13 13k 5.1
HFHRHT g 30 | 1.1 2.0 2. 50 4. 40 1.8
HF AT e 30 | L1 L3 20 R Lt 1.1
BEIT1~12TH MRk — | BAAR ﬁ?kti’émttfémtti%[fitt’@
i LR K ik
1 REERE MG o 2 DO —ft 24 35— —
2 RECEAh oot 40 | L1 32ff 41 98 17
TRILAT1 ~5TH |fbXk — | B (AL HERT HL e H e HL T
A LR R
1 REIRE RN o 2 T K —id 2o@i 36 0 —|  —
2 LS OIS 40 | 1.1|F 33F 41 T0H 17
RIEET I 30 | 101 [Rh 1.3 2. 30 4. 450 1.3
V| FREEET R SR B P oD 2 P M X3 —id SoEz 26 - -
ERRAA O H g 40 | 1| 39 4orh 152 29
1 LT R R BT P 0D B I —i 21 28— —
ERCEASS D 40 | L1|% 23% 38 121 21
ELa) o SR B P 0D o P L UK ol 4. 288 5.0f —| —
RERLIA O I 40 | L1 5 7.0F 34fP 8.7
FBEAT1~4TH  |[EERFEHIEN O R X —Hl 22 31— —
EEELIA o il 40 | L1 24 49k 122h 22
FEIRET TARA 30 | 1.1 [#f 1.5r’@ 2. 1?@ 5. 5l 4. 5




S AZ3045) i = X 20 E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i fERET EFCEAS o Hirh 30 | L1 1.5 2. IR 4. L 3.3
pidcaliy b Xk
1 %E%if&ﬁ@%ﬁ%‘%ﬁﬁﬁﬂﬁﬁ LT 1 2 0 O 1
2 hEELIA o M — | BEHR (7L HERT HLAE P e HL e
TAE LR R
1 REIRE M O 2 T K — 2T 34— —
2 _LEELES 40 | 1.1|% 4yf 504 1594 29
TEAHT [iREaE %
1 BHTEARERFM 50 | 1.1 (i YT b W b v L TR
2 LA o e — | &R [T Lb T LT L YT L Y
T LR ik
1 iR o B2 A X I — 24 40—  —
2 LELISt oM 40 | 1| 38 53h 172 33
T ET g3t 30 | 1.1 (#1352, 1 2. o 2.0
RESET o SR L I PN oD f P B XU |l 5. z[z 6.7 —| -
EEELIA o il 30 | L1 7.0 8260 1240 3.8
N ¥ HET gz 30 | 1.1 L TRE 2. 2% 4. 5 1.9
A T IR 30 | 1.1 W 2.5 2. 7l 2. 9t 1.8
RHEENT 1 ~ 1 0 T Btk Xk — | B (v e R YE T e T b T
AT A X 40 | L1 31 43 164  —
N T ey 30 | 1.1 1.3l 2. 34
HARHRAET e 30 | L1 1 3h Lol 2.2
W R Eoeiy 30 | L1 1.6l 1.8l 3.5
B HRET =t 30 | 1.1l 1o 2. 2% 3.4
REEHT E: 30 | 1.1 W 1. L 2.3 5.0
AT LT Es: 30 | L1 W0 1.1l 2. 480 5.2
FHOTHT R 30 | L1 2. Lt 2. 450 2.9
Nl fit SR BT PN o J A i (X35 —Jidi 7. 5i%E 7.9




S AZ3045) i = X 23E
HXITF 4 . AT S HABEE
p| 7 TR aRe  E W % A e T Tk e | s [
(N BAHERT EFCEAS o Hirh 40% L. 1%43 9.?)43 1{;@ 1@#@'@ 4% i |
SRR FLHT o2 4 M I PR 0D 2 P 3 DX —Ft o5l 400 - —
LIS o Hitd; 40 | L1 3 57 102 23
WILET1~7TH il I — | B&#R [ bl BT b T b T b 0
L Xk 40 | L1|P 33ff 42 36 7.8
AET 1 ~7TH LIk 50 L. 1 (77 b YT b Y b e L v
AT LA DI
1 REEREUMI P o B R X —Ht 2pE 28 | —
2 LR oM 40 | L1|$ 23 38F 128 21
A AHT I 30 | 1.1 [6f 1.5[? 2. eﬁ 4. 8 1.2
EHHAT1 ~8TH b E IRk — | BE#R fﬁtti’émttf%mtti‘%[ﬁtt“é
A AR K
1 REERE MG o 2 DO —ft 24 35— —
2 RECEAh oot 40 | L1|% 32 41F 95 @ —
=) Ece 30 | 1.1 2.6l 2. 8F 2. ol 2.0
SPIRET Ex: 30 | L1 (W0 1A 2. 40 4. 20 1.8
SPHRHT E=et 30 | 1.1 2. 1 2. 18 3. Ol 1. 4
FHEHRT [ERER 7
1 %iﬁﬁ%i%ﬁ@%ﬂ%%ﬁfﬁﬁﬂﬂ 0 L 1 1 21 A sl
2 LERLUh o i — | B | ST b YE T b Y b
T AR X g
1 BRI A PN oD Rl 3 o L Y I
2 REELS O Mg 40 | L1|F 35 53 5P 12
SEAHET =t 30 | 1.1 2.7l 2. (T@ 2. 9l 1. 5
EJET1~11TH |ffbXk — | B ﬁtt%ﬁtbﬁﬁbb%ﬂﬁtti’é
T L X
1 REERE N O 2 K I —l 24t 35— —
2 _FEOEAA O 40 | 1104 32 41 98—




S AZ3045) i = X 2UE
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
O JRE#T1~3TH (ikcakAE: —% %ﬁﬁﬁttfgfﬁtti”;‘ﬁttéﬁitﬁ% ’ ’
LR Xk 40 | L1[F 3gF 55 @~ —
I FHET o AR B P o A M R el 27pn 34 | —
RELIS O 40 | L1|F 4o 50 152 31
N gzttt 40 | L1|P 21ff 308 156 3.9
JiZERT PR SR B AR PN oD S R —fel 3o 260 | —
LIS O Hi 40 | L1|f ssff 38 159 —
SFHTHRT I 30 | 1.1 [Al 1.5[? 2.6 4.8 1.8
5 LT kT (AES: S 40 | 1.1 ﬁ?thi’émtlzfiﬂti%mt@
TR b A X
1 FREEIRG R o B T s 441 | —
2 LECBUt o HbR 40 | L1|F 4.2/ 5.5 45F 12
BT ik S B A P D f2 B XS —t 3o 260 0 - —
_ERLEASR D i 40 | L1 38 38 152 29
i ] 5 BT SR B PN oD J P M 0 —o 3.5%0 .00  —| —
ERELAS 0 Hit 40 | L1144 j: 5.99 38 8.5
FRIRHT B ZE A Bt P D SR T X B —t s T 6.7 - —
EFERIA D HirE 30 | L1 7.0 9.0 145 5.4
HTET g 30 | L1 2.5 2. GEﬁ 2:[: 1.8
HRE1~10TH [REEREFAIEPA ORI —id 24Ez 38 - -
EELLLA o Hithey 40 | L 1|4 3z 44 oo 22
MEM1~3TH ek AEz — | BRMR (7 Lk T E T L M b e
LR R 40 | L.1[f 34 43 35 —
Z R Eoei 30 | 1.1 [ 1.4 2. 300 3.7 1.5
-~ FFIET1~8TH  |[fiHbEg — | B ﬂithiﬁﬁtt@r;itti’%ﬁtﬂ%
M RS K 40 | L1([P 31F 49 154  —
F EHRAT1~13TH |[fifbRE® — | B&HR [T LT LY b YT L
AT LR (X I8




1.
YN

P304 5y H =R * 25E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
(F EXRT1~13TH 1 REEHREHIE N 0 B A i DO ’ —Fé;’fm 2{;%1@ 3? B i
2 kRIS Hk 40 | 1L.1|% 3z 49 1514 30
P KET fr SR LIS PN oD f P L Bk —t 7 e 8.0 | —
RELIS O 30 | L1 oo 144 14r@ 4.9
EHKATATH [kl — | BEAR (T LT BT L T LY
AR KR 40 | L1|d 32 42 98—
El=F N i S i L L ) o f D o —#f 1.9fh 3.3 — —
EFRLIA o Hitkek 30 | L1 2 4[: 5. Ol 3. gl 1. 6
M T g 30 | L. 1[0 1.3l 1. Ol 4. 5l 1. §
FEARET R S 1A B AR PN D JR X0 —hti 7. z[z .8 - -
LFRLLA o Hie 40 | L1|H 8.7 15 13 4.2
1 FLIT [iEREaR A — | B ﬁﬁtbﬁﬁthﬁiﬁtﬁ%ﬁﬁbhfﬁ
A LA Ik
1 IR MR o B2 T i Ik —fd 25 40— —
2 LEELUS O R 40 | LO|F 38 57F 102 23
REFRE1~6TH |&H 50 | 1.1 [FT L YT b T b MR L T
AHT A X 40 1.1 Hﬁttiﬁljﬁtti”éﬁﬁttﬁfﬁtti’%
A LA K ik
1 REEIRS M PN 0D 2 i —Wl 2T 34— —
2 _ERCEA DR 40 | L1|% 4yt 50 152 —
AFACL~9TH  |[HEHLRE — | BRAR (T LL T b M YT L T
A KRR b
1 BB o B2 A X I —fdi 21 28 0 — —
2 LELISt oM 40 | L1 31fdr 43th 154 27
A FHET [k A 50 | 1.1 |if b ¥ b e b b
T (LR X
1 BRI PN o B M K el 24 34 | —
2 kLSO 40 | L1|F 3¢ 50 159 —




1.

R30S =3 =R * 26E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
H ARMET1~1 0TH [AE{bXiE —% %%ﬁ%l‘ﬁttfgfﬁtti”;?ﬁttéﬂittfg ’
A L Xk
1RSSR P o R F HE K — 2B 28 | —
2 FELS o 40 | L1|F 31 43 154 24
AFHEAT o SR LI PR oD f P B XU —Ft 13 o271 | —
EELIA 0 i 40 | L1 21 31t 28fh 6.9
k| EAHT Fo S B PR oD F R L X —#t 13 300 | —
_ERCEASN 0> itk 40 | L1|P 21ff 38% 74 18
BIAET 1 ~7TH 4k 40 | 1.1[# 35 54 154
ATARET R S 1A B AR PN D JR X0 it o4l 34 | —
_ERELASN 0> Hith 40 | 1.1 (% 39 50 152 29
EUR(EL ESe 30 | 1.1 | 2. 8ff 3. 30 4. gt 1.5
AT Eoei 30 | L1 f#E 2. 1E L Ol 3. 85l 1.4
PR PG HT [iREaR A% — | BRHR (TRt L tti’é[ﬁtt“&
AT LA (X Ik
1 RERBHE N 0 B Al X —pii 3ot 260 - —
2 _ERCEA Ot 40 | L1|% 39 38 152 29
Pt BT e IR BT P oD 2 L K35 —l soE 26 0 —| —
HFREAA O i 40 | L1 s 38 152 29
T EHT R SR B P oD 2 P M X3 —l 5. 800 6.8 @ —| @ —
EFRLIS O 30 | L[ 7.2 8. 560 12 3.6
S A RT kel 50 | 1.1 Fﬁth@?ﬁtl:i‘éﬁitt@ﬁtﬂ@
LA X 40 | 11| 8.gf 14 35 10
Fad BT £z 30 | L1 [ 2. 40 4. 10 4. TG 1. §
FABHET e R BT PN oD o P i DU —JAti 3. 7[: 6.7 —| -
_EEELIAN 0> itk 30 | L1 7.0H 9. 0% 146 5. 4
FARFT1~7TH [ikczp (s — | B Fﬁtt@ﬁtbﬁ&bbﬁﬁbh@
T LR (X I




S AZ3045) i = X 2TE
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
E| FARFT 1~ 7 T H 1 REEHREHIE N 0 B A i DO * fﬁm zﬂ;@ zg i ’ |
2 _LEELA o M 40 | L.2|% 3yfr 43 172 23
RIWET1~10TH |[H#bEE — | BRAR (T T LY L T L
LS 40 | 1L1|f 35 54 154 —
JTETAT Epe 30 | L1 [WE 2.0 1.7 3. 2l 1.4
TrARHT Esin 30 | L1 W0 1.8l 1. ol 2. Tl 1. §
A AEIPSET Eet: 30 | L1 W 2. 200 2. 50 3. 500 2. 6
HBIERET Eoes 30 | L1 WL L 2.7 4. 4l 1. 4
FEEEHT ik 30 | 1.1 150 2. 60 5.0k 1.8
HFERT 1 ~4TH WL — | B Fﬁtt?é[:tt@[ﬁbt?ﬁiﬁtt@
T LA X 40 | L1 36 5o 154 @ —
KMIT1~7TH B3R O 5 RS —fel 24 35 | —
ERRLIA O it 40 | L1 32 41 95 18
ST 1~ 1 3T H [EH{ERE — | BE#L |7 AT LT e L
T L X
1 RERBHE N 0 B Al X —ii 24t 35— —
2 _ERCEA Ot 40 | L1|% 3z 41 o8t 17
= AARET I 30 | 101 [l 2. 7jel 2. 80 4. 9 1.7
HTEET it SR BT PN 0D J L 35 —Jiti 2. 3Ez 2.5 - -
LFRLIS D s
1 24, &®T. T, A& 30 | L1 3 uf 3.3 16 4.0
2 RERLS O 30 | L1 2.6F 4. 08 7. 66 1.5
AT = A B N oD 2 P L DX —l 13 25— —
LIS o i 40 | L1 21 33th 36 8.2
HE[1~7TH [k A — | BRAR (R b Y b M b v
T (LR X
1 BRI PN o B M K el 2upn 28 | —
2 kLSO 40 | L1|F s 43 179 —




1.

R30S =3 =R * 28E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
A H LET1~8TH b X —% E%ﬁ%;l"ﬁttfgfﬁtti”;‘ﬁttéﬂittfg ’
A L Xk
1RSSR P o R F HE K — 2B 28 | —
2 FELS o 40 | L1|F 31 439 179 —
HAOM1~7TH (BRI O R X —Ft ot 28 | —
EELIA 0 i 40 | L1 23 38t 172 23
= AT Eet: 30 | L1 W 2.6 2.8t 5. 2l 1.7
XET1~5TH ML — | B ﬁtt@ﬁtﬁ%&hﬂ%ﬁth@
AT LA X 40 | LL[d 31 434 154 0 —
HREIRT1~7TH |2 40 | L1 31 38+ 64 16
WEIT1~6TH  |[MHEHLKER — | BEAR (TR YT B b T b
AT LA R 40 | 1.1 (% 35 54 147 —
Fe =RT1~7TH e 40 | L1|% 29F 38 395 8.6
cqaliiy E=¢in 30 | L.1[E 1.5 2. ET@ 4. Ol 2.2
W R 1 ~7TH T i — | B ‘rﬁtti’éﬁﬂ:ﬁfﬁbtﬁ[zﬁttiﬁ
A LR R
1 REIRE RN o 2 T K —d 23 28 00— —
2 _ERCEMA O 40 | L1|4 304 44 147 —
bl TEHT1~6TH AL X — | BEMR (7 LE M LA L M b TE
T LR I 40 | 1.1 (% 35 54 147 —
HIT1~8TH b R ik — | BRAR (T LL T b M YT L T
A KRR b
1 BEEIR B P oD B M X I —l 24 35— —
2 LELISt oM 40 | L1 32 41 egfh 18
R ERRET Eseen 30 | 1.1 [A 1.5 2. zT@ 3. 9l 1.9
JNELET [EElaEeE 50 | L1 ﬁﬁth%ﬁttﬁﬁ?bt%r:tt%%
AR KR 40 | LL|f 25 42 37 1
ZEEuT Eceiid 30 | 1.1 [ 2. 5f@ 2. 9?@ 2. §fti 1.6




S AZ3045) i = X 208
HXITF 4 . AT S HABEE
S (TR wass @M m oW g [P ACEERTEECEA RS
) ST e S R O B R R P PO O R I I
ERRLIA o Hitkek 40 | L1 7.8 18t 35 10
IR BT gt 30 | 1.1 [ 15[ 2. 85 4. Offli 2. 4
(iFET et R BT PN 0D ot P i Xk —J#ti 5. E 6.7 —| -
_EELLASN D itk 30 | L1 6.9 9. 0% 145 4.1
(Tt thva) K 30 | L1 |WE 130 2. 450 3. 5[: 2.2
| EEHET Eeei 30 | 1.1 Wt 3. OE 4. Ot 4. 3%l 1. 3
k| #EET1~4TH ML — | B ﬁtt@mtbfﬁrﬁhﬂéﬁtti’é
T LA X ek
1 R R sk PN 0D SR X Js —fti 21 28 | —
2 hEEA o i 40 | L2 ijj 438 1720 —
&R [iEREaR A — | R [ T Bl b T L
A LA Ik
1 IR MR o B2 T i Ik —d 2T 34— —
2 LEELUSh O iR 40 | L1 41 509 152 —
A EET Ex: 30 | L1 (W0 2. 30 1. ol 3. L 2. 3
DY > A HT g 30 | 1.1 1.6E 2. 3Em 4. 8[: 1.5
n| EEH Eeei 40 | 1.1|% 35 54% 1474 28
AT b P — | BRAR (T LT L M S T b T
A LA K ik
1 BRI P 00 B A K —peE 2usE 28— —
2 EELA o HR 40 | L1 31 49 152fh 22
Y ST Ecei 30 | 1.1 2. 15 2. 64 4. Ofdi 1. 9
b HE1~4TH ot 4R B LI P o0 fi P L K —fF 298 30| — —
RERLIA O I 40 | 1L1|f 24[: 40/ 172 35
i ARTERT [ERca A — | BEAR (7 L YT BT L T LY
AT AR K ek
1 RN o B A O —J#ti 27r’@ 34— —




H
#

P304 5y H 30E
HXITF 4 . AT S HABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
| A ARPEHET 2 kRS OHIK 40% 1. 1%43 ﬁtf: 5?)EP 15§EP 2;) i |
iR ERHT b Xk — | BEAR (T LE T b L T L
AT {L A X
1 REEREHIEE PN 0 B A X I o I I
2 FEREAAh o Mgk 40 | L1|% 4yfr 50 152 29
Foa T i, 30 | L 1R 1.3 2. Ot 3. 8%l 1.7
H JRHT i 30 | L1[#H 150 2. 3t 4. 8%l 1.2
ERRES Eeein? — | B ﬁthi’%mttfﬁ[;htﬁﬁtti’é




